
*(1(5$/ 58/(6 72 )2//2:�

�� 5RWDWH JURXSV DV SHU VFKHGXOH VR WKDW HDFK JURXS KDV D

FKDQFH�

�� 3RVW WKH PHQX DQG WKH DPRXQWV WR EH SUHSDUHG�

�� +DYH HYHU\WKLQJ UHDG\ IRU WKH JURXS WR VWDUW FRRNLQJ�

�� $OORZ HQRXJK WLPH IRU PHDO SUHSDUDWLRQ�

�� +DYH VRPHWKLQJ SODQQHG IRU WKH EDODQFH RI WKH FDPS�

�� 5HVWULFW WKH FRRNLQJ DUHD WR RQO\ WKH FRRNLQJ JURXS WKDW
LV SUHSDULQJ WKH PHDO�

*(1(5$/ 58/(6 72 )2//2:�

�� .HHS PHDO VLPSOH� <RX GR QRW ZDQW WKH ZKROH GD\
WDNHQ XS ZLWK PHDO SUHSDUDWLRQV�

�� 3URYLGH D ER[ IRU HDFK JURXS WR VWRUH WKH IROORZLQJ
FRRNLQJ HTXLSPHQW �IRU FRQWHQWV� VHH WKH IROORZLQJ
SDJH��

�� 3URYLGH FRRNLQJ LQVWUXFWLRQV IRU HDFK PHDO� $ VPDOO
FRRNERRN ZLWK WKH DPRXQWV� FRRNLQJ WLPHV� HWF�

�� (DFK JURXS ZLOO VHQG RQH SHUVRQ WR JHW WKH IRRG IRU WKDW
PHDO�

33

�����
&RRNLQJ IRU WKH
(QWLUH &DPS LQ

*URXS 5RWDWLRQ

�����
&RRNLQJ LQ
VPDOO *URXSV


